ZRAGHRFEER= T AE—— EA - FiEmELT FoTL
A—H—# 1 1 PR L HIBR7ZR L HIBR7ZR L HIBR7ZR L
A—H—=JIL—=7 1 1 PR L HIPR7R L HIBRZR L HIBR7ZR L
%05% DB £ 1 1 HIBR7R L HIBR 7R L HIPRAR L HIBRAR L
EH7yO—R v v v v v v

WRE | wamst v v v v v v
&N:% DB FIF v v v v v v
RER LLM [Secure] AWS Bedrock/Claude BRIEE
Fyw b LLM OpenAl,Claude,Gemini &FH 53EIR (FEEH) ERIFEE
1A=L =2 200,000 H CEY ok
IER — -
Rty b7y a3—H—ZFFFDH 300,000 M ERRE
ERE | RTE —/— — /50,000 M — /35,000 4 CEY ok
10 A (&%) :5,000H
BiER BEl P 11~100 A :4,500 /9
11—H—57b 5,000 3 101 ~ 500 A + 4,000 F3 3,000 9
501 AMXE  :3,500 9
FABA 1A 10 A~£EHIR 300 A~EHIFR
7y 7O—F
A1 R—T 810 20H9
BHERERE| mzme 0B bERAEE
1~1000 R—> 5 /1R=D
CSVIZIER# x Ld— R 1001 ~ 5000 R—< 4F‘:_|/1 R=
7300 TA41KEBE 5001 R—J LU E 3l /IR=D




